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CHAPTER 9
Sequences, Series, and Probability

Section 9.1  Sequences and Series

You should be able to use and evaluate factorials.
You should be able to use sigma notation for a sum.

Given the general nth term in a sequence, you should be able to find, or list, some of the terms.
You should be able to find an expression for the nth term of a sequence.

Solutions to Odd-Numbered Exercises
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PART I: Solutions to Odd-Numbered Exercises and Practice Tests
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115. a, = 696.39 + 66.44n — 2372, n = —1,0,..6
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According to the graph, hospital costs are increasing.
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127.

a, =11
a, = 13
a; = 17
a, =23
as =31

The terms seem to be prime numbers. However,

a,; = 121 isnot prime.
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